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QUESTION 1

Consider that in your company you are handling lot number tracking of items. Which two statements are true regarding
lot management? (Choose two.) 

A. Once can allocate the Inventory against the lot number during waving against an Outbound Order. 

B. After performing the Putaway of an IB LPN, which is having the lot number, the lot number will not be transferred to
the Active location. 

C. A received IBLPN can have multiple lot number-tracked SKUs with different lot number inventory at any point of
time. 

D. A batch number in the Batch Management UI has to be always linked to an expiry date. 

Correct Answer: AD  

 

QUESTION 2

During which of the following three scenarios does the WMS validate or throw an error message during picking with a
serial number tracking execution? (Choose three.) 

A. When the scanned serial number is not present in the scanned IB LPN or Outbound LPN or item and is present for a
different facility. 

B. When the scanned serial number is present in the scanned IB LPN or active location and also exists for another item
in stock in the current facility. 

C. When the scanned serial number is not present in the scanned IB LPN or Outbound LPN or item and is currently
linked to another Inventory Record for the facility. 

D. When the scanned serial number, which is associated with an OBLPN in shipped status for a different facility, is not
found for the current facility. 

E. When the same serial number, which is already present on the same Sku in a different facility, is scanned. 

Correct Answer: ABE 

 

 

QUESTION 3

Your warehouse is divided into two large areas, Area A and Area B, which store different products. You 

have set up your wave to allocate inventory from only Area A, but when the wave is run, both Area A and 

area B have allocated items. 

What caused the issue? 

A. In the Allocation Mode, "Restrict Allocation Zone" was not specified. 
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B. In the Allocation Mode, "Restrict Allocation Zone" was set to Area B. 

C. Allocation zone was not specified in the task selection criteria. 

D. Allocation zone was not specified in the shipping order. 

E. The locations in Area A have excessive cycle count tasks against them. 

Correct Answer: C 

 

QUESTION 4

Identify the export type that is not supported in an Express Report. 

A. CSV 

B. RTF 

C. PowerPoint 

D. Excel 

E. PDF 

Correct Answer: C 

 

QUESTION 5

As an Inventory Super User, you are configuring LPNs per tier and Tiers per Pallet fields at Item Details 

screen. 

Which statement is true about LPNs per tier and Tiers per Pallet? 

A. LPNs per tier and Tiers per Pallet are used to define number of Ob LPN per tier during shipping. 

B. LPNs per tier and Tiers per Pallet are used to define number of IB LPN per tier during receiving. 

C. LPNs per tier and Tier per Pallet are used to define the standard number of LPNs acceptable per pallet during
receiving. 

D. LPNs per tier and Tiers per pallet are used to define the standard number of case and pack for an Item during
receiving. 

Correct Answer: D 

Reference: https://learn.oracle.com/ords/launchpad/learn?page=item-masterandcontext=0:44189:44200 
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